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SITERER
g5 2 324 £ B9 5t ] 2= U TH] AR a8

1 R 0. 765 64504. 160 186251. 188 8. 1246
2 e 0. 857 220941. 219 1797706. 875 90. 6875
3 1. 457 3491. 182 19395. 916 0. 0000
4 ZEATK 2. 807 3461. 000 28486. 900 1.1880
5 6. 165 1796. 805 60651. 250 0. 0000
6 11. 490 195. 087 7040. 919 0. 0000
7 12. 507 38.475 1064. 157 0. 0000
8 13. 040 34. 875 923. 526 0. 0000
9 13. 940 19. 316 455. 100 0. 0000
B 294482, 120 2101975. 831 100. 000
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Hi#g. 2025.8.1 4=, B20250801150002
H A4 FR HayER (%) H o> 44K HorER (%)
H5|H 0.000 27T #%| Trans-2-C,H 0.000
i 42| CH, 90.688 W2 T | Cis-2-C,H 0.000
Z.45|CHy 0.000 1,37 —#5[1,3-C,H, 0.000
24| CoH 0.000 5k 4 i-CsHy 0.000
7tz CsHs 0.000 IF 4z (n-CsHy, 0.000
47| CsH 0.000 — e CO 0.000
5T 4i-CiHy 0.000 — 4L CO; 1.188
TET 42[n-CoHyg 0.000 %50 0.000
I 5 T 95| 1-CiHg 0.000 w5 N2 8.125
#3+100.000
5% (0°C, 101.kPa)
B = 36.217 |MJ/m® BRpe#=35.12
A= 32.560 |MJ/m’ A8 £ =]0.6000
A = 46.756 |MJ/m® B = 0.776 |kg/m’
I B 45 1 %= 42.036 |MJ/m® TR HCO,= 10.65
520V HBR A4 1 = AP TE 2 M=
43 (15°C, 101.kPa)
B = 34.2633 |MJ/m° PR EE3=]35.13
fE# =] 30.8479 |MJ/m’ A3 =[0.5999
A AE S B 44.23 |MJ/m® B = 0.776 [kg/m’
R AVE S A %= 39.82 |MJ/m® FHSFHCco,= 10.65
520Y BRI MR 42 1 Bi= AT IE R B=
0°C, 101.kPa 15°C, 101.kPa
R HufE= 152 |kcal/m’ Eadyl 144 keal/m*
1§ #ul= 137 |keal/m’ e 130 |keal/m’
EAVEA A B= 196 |kcal/m’ B 4 186 keal/m®
TR 5 H= 177 |keal/m? ALY 167 keal/m®
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B} ] (min)
TS RE
e 353 g 47 LR B i ) e 7 g THT 7 EE
1 BE 0.765 46607. 918 129528. 367 5. 6006
2 A g5z 0.857 227034. 672 1876966. 625 93. 8550
3 1. 448 4436. 894 25391. 359 0. 0000
4 ZE AR 2.823 1604. 523 13169. 400 0. 5444
5 6. 190 1515. 921 48973. 199 0. 0000
6 11.548 74. 646 2320. 041 0. 0000
7 12.798 8. 566 384. 187 0. 0000
2t 281283. 140 2096733. 179 100. 000
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H#g. 2025.8.1 gm2, B20250801151643
Hor B HOEE (%) Hor L FR HoyadE (%)
H5|H 0.000 % 2T 43| Trans-2-C,Hy 0.000
4| CH, 93.855 JGi2 T 45| Cis-2-C,Hg 0.000
25| CH, 0.000 13T —#|1,3-C,Hg 0.000
24| CoHg 0.000 Feiigz|i-CsHyy 0.000
4| CsHs 0.000 1F & k| n-CsHy, 0.000
| CsHs 0.000 — & Ak CO 0.000
BT 4|i-C4Hyg 0.000 — &4k CO, 0.544
1F T4z [0-C4Hyo 0.000 %50, 0.000
iE5 T 4| 1-CoH 0.000 P\ 5.601
&3+ 100.000
#E4%E (0°C, 101.kPa)
A= 37.481 |MJ/m® R b 3h=36.87
1§ Huii= 33.698 |MJ/m’ X BB =(0.5833
P A 1 B= 49.076 |MJ/m? W= 0.754 |kg/m’
R B 3= 44.121 [MJ/m’ TS HICO,= 11.02
520Y L BRI E 4 G = PH B IE R Y=
4 E (15°C, 101. kPa)
B A= 35.4600 |MJ/m’ MR $=(36.87
fEpfE=| 319254 [My/m’ X85 =] 0.5832
A = 46.43 |MJ/m’ B = 0.754 [kg/m’
A 5 = 41.80 [MJ/m’ T HCO,= 11.02
520Y L BHR P E 4 - Fr= AS B IE R K=
0C, 101.kPa 15C, 101.kPa
B Hufi= 157 |kcal/m’ madal 149 |keal/m’
& A= 142 |kcal/m’ fEE 134 kcal/m?
AV (A = 206 |keal/m’® Epdas] 195 |keal/m’
S A = 185 |keal/m’ EaEEEY 176 keal/m’®
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At 18] (min)
e R E
e 357 g 42 LR ¥4 B 1] 2 327 g THT £ HE
1 AR 0. 765 33060. 668 88351. 602 3. 7946
2 H b 0. 848 228888. 000 1911052. 500 94,9184
3 1. 448 3615. 600 20373.199 0. 0000
4 & AR 2.798 3752. 970 31345. 699 1. 2870
5 6. 157 1686. 290 58134. 199 0. 0000
6 11. 415 199. 564 6959. 700 0. 0000
7 12.798 19. 870 352. 260 0. 0000
8 14.198 32. 261 1004. 088 0. 0000
Bt 271255. 223 2117573, 247 100. 000
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Hi. 2025.8.1 g, B20250801153325
Hor B HIEE (%) Ho 2R HEEE (%)
55 |H 0.000 S22 7T #5| Trans-2-C,Hy 0.000
FA 4| CH, 94.918 JFi2 T 45| Cis-2-C,Hg 0.000
z.4%|CH, 0.000 1,37 = ¥%|1,3-CH, 0.000
Z.42|C2He 0.000 Ferfz|i-CsHyy 0.000
itz CsHs 0.000 1F 4z |n-CsHy, 0.000
| CsHg 0.000 — &4k CO 0.000
8T g|i-C4Hyg 0.000 — %5 CO, 1.287
IF T #z|n-C4Hyo 0.000 5|0, 0.000
IF 5 T4%(1-CiHy 0.000 w5 N2 3.795
&1+(100.000
#BrE (0C, 101.kPa)
A= 37.906 |MJ/m? e 3=(37.29
IRl = 34.079 |MJ/m? Hx$ % EE=|0.5831
B R = 49.641 |MJ/m? W= 0.754 |kg/m’
R AMELE B %= 44.629 |MJ/m’ FHSHHCO,= 11.14
520Y L BHRAVE 2 5 $i= PSREIE R Y=
A5 (15°C, 101.kPa)
 BifME=[  35.8618 |MJ/m’ WREe%=37.30
fiEffl=]  32.2871 |My/m’ A B =]0.5830
B R 1 B 46.96 |MJ/m’ B = 0.754 |kg/m’
TERE S B %= 42.28 |MJ/m’ FHAFRCO,= 11.14
520Y BRI E 4 G $r= AARBIER $=
0C, 101.kPa 15°C, 101.kPa
R ffti= 159 |kcal/m’ madE 151 |kealm®
fEHufti= 143 |kcal/m’ iEavEl 136 [keal/m’®
A B XY= 208 |keal/m’ mAEEas 197 |kealm®
IRAEE A %= 187 [kcal/m® TE A4 1 30 178 keal/m®




N2000 #iE TAEY,

R

RIS AL, R MEEERSERAR SE Ly . Mg

E%ﬁ% 2?0255%35(%,7;%%5%03716 HIRA T e [ 2025'—5(')8—01, 16:05:18
WEEISCAF: D2 \BTA A \N2000\ £ & \B20250801155016 T WK IE IR —3
TESCHF: DARRRAS T k. mtd

fEFAXES A, Safait KEE: FID HEERS: 9
HiE: BFEAE

SEIO AT/

HBURE A KREIR,

1% & (B20250801155016)

300
280
260] 1
240{ B
220
200
180
E 160
H 140
120
100
80
60
20 W
oLl 1l .
01 2 3 4 5 6 7 8 9 10 11 1213141516171819202122232425
I 1) (min)
IS RE
5 I 42 TR B B 1] U 75 W T A vE
1 B 0. 757 26837. 205 71310. 813 2.9721
2 b 0.848 237046. 609 2009767. 250 96. 8667
3 ZE AR 2.840 491.538 4047. 100 0.1612
4 6. 398 550. 609 16612. 500 0. 0000
Bt 264925. 962 2101737. 663 100. 000
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Hig. 2025.8.1 42, B20250801155016
H o B FR HAEE (%) o 2K HEE (%)
55(H, 0.000 27T #5|Trans-2-C,Hg 0.000
F 4| CH, 96.867 JiFi2 T 3| Cis-2-C,Hg 0.000
24| C:H, 0.000 13T —#5|1,3-C;H, 0.000
24| C:He 0.000 5 gli-CsHyp 0.000
it | CaHs 0.000 IF | n-CsHia 0.000
| CsHe 0.000 — &4k 5| CO 0.000
ST 4[-CHyg 0.000 — &4 CO, 0.161
iET k| n-CaHi 0.000 <02 0.000
IF 5 T 5| 1-CaHs 0.000 w5 N 2972
%3+100.000
5% (0°C, 101.kPa)
Bl = 38.684 |MJ/m’ PR $4=38.53
&R l= 34.779 [MJ/m® Hixt 5 RE=(0.5687
B A g H= 51.295 [MJ/m> W= 0.735 |kg/m’
TEHE 4 B %= 46.116 |MJ/m’ FRAHICO,= 11.37
520Y L BHEAVE % A = AAFTBIE R =
S ZFE (15T, 101. kPa)
miffi=|  36.5979 |Mi/m’ Bhhe35=38.54
fEfviE=  32.9498 MJ/m’ HX$ B =]0.5686
BRI M= 48.53 [MJ/m’ = 0.735 |kg/m®
R 5 Be= 43.69 |MJ/m’ FHSHICO,= 11.37
520V L BHR AVE 4 E $i= AUFBIER S =
0°C, 101.kPa 15°C, 101.kPa
E Rl = 162 |kcal/m’ Bl 154 kcal/m®
= 146 |kcal/m’ SRl 138 |kcal/m?
ORI B = 215 |keal/m’ mAEAR] 204 |keal/m’
T H i 4 1 M= 194 |kcal/m’ EaEeEs 184 |kcal/m®
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I 1) (min)
TSR
g5 e 274 R BT ki) 3= T AR 5B
1 AR 0.757 1444. 922 3830. 135 0.1612
2 FA e 0.832 234004. 938 1955331. 625 95. 1575
3 ZE AR 2.690 9621. 286 88610. 297 3.5648
4 6. 157 981. 396 34671. 102 0. 0000
5 Wk 10. 723 1100. 429 41301. 699 1.1165
E‘ﬁ- 247152. 971 2123744. 857 100. 000
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Hi. 2025.8.1 432, B20250805171206
o 2K HyEE (%) H 5 2B FR HarogE (%)
g5H 0.000 2T 3| Trans-2-C,Hg 0.000
F | CH, 95.158 Jifi2 T 4| Cis-2-C4Hy 0.000
7.4 C2Hy 0.000 1,37 = %[ 1,3-C,H 0.000
7. CH, 0.000 Sk ki-CsHy, 0.000
7 k| CaHs 1.117 1F 4z |n-CsHyp 0.000
4| CsHe 0.000 — &4k 1| CO 0.000
& T gz[i-C4Hyo 0.000 —& 5| CO: 3.565
1 T 4z[n-CiHyo 0.000 4502 0.000
E5T9|1-CiHg 0.000 w5 N 0.161
#31/100.000
5% (0°C, 101.kPa)
Bl = 39.133 [MJ/m® R $=37.67
1§ Hufii= 35.205 |MJ/m’ MR E=0.6015
T R g H= 50.459 |MJ/m> 2= 0.778 |kg/m’
Y =E 45.394 MJ/m’ FHS P HCOo,= 11.33
520Y LBARRE 2 A H= REAFBIERS=
43 (15°C, 101.kPa)
mifE=  37.0200 [MJ/m’ Wb 3=(37.68
fiEffE=|  33.3509 |MJ/m’ I 35 £ =0.6012
B Pl 1 %= 47.73 [M¥/m® = 0.777 [kg/m’
TEHE 4 B %= 43.00 [MJ/m’ TS HCOo,= 11.33
520Y LB RVEHE A $i= PR IERE=
0C, 101.kPa 15C, 101.kPa
B = 164 |kcal/m’ vl 155 |keal/m’®
I = 148 |kcal/m’ EavE| 140 keal/m®
FAE A A 5= 212 |keal/m’ Eadgeal 200 [keal/m’
R R B = 191 |kcal/m® (&R A 5 181 keal/m®
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ﬁégl{; D: \WiA 4 1k \N2000\ B \B20250805173116 RIS TARKIEA—IE
T DARRI I mtd
fEFER AR SR HMES: FID BERESS: AR
MR BFTHE
SEI YA AT A
B R ZURTE
300 53 ] (B20250805173116)
280
260{ &
B
240/
220
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180
£ 160
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80
®
) 3
oy 0 8
(1 . S g ,
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25
i} ] (min)
A aRR
e 5 e 42 DR B IR 1) U oG e T AR G
1 0. 440 1146. 714 9786. 013 0. 0000
2 AR 0.757 1580. 086 3840. 074 0. 1611
3 Fbe 0. 840 233848. 656 1960701. 500 95. 1099
4 MR 2.715 9576. 427 90164. 398 3.6156
5 3.840 1244.173 38966. 352 0. 0000
6 6. 265 885. 984 32588. 500 0. 0000
7 9. 065 55. 020 1461. 800 0. 0000
8 [R5 10. 898 1077. 920 41320. 801 1.1134
9 13. 665 25. 885 808. 300 0. 0000
57 249440. 865 2179637. 738 100. 000
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i TR R
Ay, 2025.8.1 g2, B20250805173116
H o 2 HR Hodi (%) H 5 B FR HoaE (%)
5.5H 0.000 27T 4| Trans-2-C,Hg 0.000
F 4z CHy 95.110 Jifi2 T 45| Cis-2-C4Hg 0.000
7 4%|C:H, 0.000 13T =43 1,3-CoH 0.000
74| CoHq 0.000 5 gx|i-CsHi 0.000
k| CsHs 1.113 TF &z n-CsHyy 0.000
| CsHe 0.000 — & Ak CO 0.000
=T 4z|i-CiHio 0.000 — &5 CO, 3.616
IF T #z(n-CaHyo 0.000 %502 0.000
i 5T 4| 1-Cag 0.000 w5 N 0.161
#3+100.000
E#4r% (0°C, 101.kPa)
= 39.111 |MJ/m® BRie$={37.64
fEHuE= 35.185 |MJ/m’ A B ={0.6019
B M= 50.411 [MJ/m’ W= 0.778 |kg/m’
ERE S A %= 45.351 |MJ/m’ FHS P CO,= 11.32
520Y LR AVE 4 A $i= AARMBIE R B =
A E (15°C, 101.kPa)
Rifdi=  36.9991 |MJ/m’® b 3=37.64
fE#E=|  33.3320 MJ/m’ AR BB ={0.6017
B A = 47.69 [MJ/m’ 5 i = 0.778 |kg/m’
R4 B B= 42.96 [MJ/m’ FHSHICO,= 11.32
520Y AR AVE % A Bi= AARBIERE=
0°C, 101.kPa 15°C, 101.kPa
B l= 164 [kcal/m’ mbval 155 |keal/m’®
= 148 |kcal/m’ fEavE| 140 |keal/m’®
BRI M= 212 |kcal/m’ EAEEEY] 200 keal/m’
B 25 1 3= 190 |keal/m’® e 180 |keal/m’®
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1 T & 2025/8/1 14:44 67. 02 Ak EH
2 T AL 2025/8/1 9:45 60. 58 i 1E%
3 T 2025/8/1 10:05 57.02 Ak EH
4 FKRIEE RS 2025/8/4 09:52 68. 87 G IEH
5 Gig SV 2025/8/1 11:37 59.19 Exid E#
6 H FE1E bl 2025/8/1 10:19 69. 51 G IEH

20254
7 #—J 2025.8.3 9:13 28.8 S EF
8 £ 3 2025.8. 3 10:58 26.1 SA EF
9 FALT 2025.8.2 8:27 31.8 S EF
10 B 2025. 8.2 9:10 27.5 SA EF
11 BH 2025.8.3 15:33 24.4 S EF
12 LY 2025.8.3 14:19 25.3 SA EF
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